MONDAY	TIME	LOCATION	YEAR	DURATION	COST PER SESSION / COURSE	CLUB DATES	COLLECT FROM
NETBALL (Min:12/Max:18) Park to Pro	15:30- 16:30	KS2 COURT	3 – 6	10 weeks	£7.50/£75.00	12 th Jan, 19 th Jan, 22 nd Jan, 2 nd Feb, 9 th Feb, <mark>16th Feb</mark> , 23 rd Feb, 2 nd Mar, 9 th Mar, 16 th Mar, 23 rd Mar	GAZEBO
3D PRINTING (Max:30) Mr Smith	15:30- 16:30	Yr4	2 - 6	10 weeks	£11.00/£110.00	12 th Jan, 19 th Jan, 22 nd Jan, 2 nd Feb, 9 th Feb, 16 th Feb, 23 rd Feb, 2 nd Mar, 9 th Mar, 16 th Mar, 23 rd Mar	Yr4 RAMP
DRAW & COLOUR (Max 10) Mrs Dutton	15:30- 16:40	Class 1	1 - 2	10 weeks	£7.50/£75.00	12 th Jan, 19 th Jan, 22 nd Jan, 2 nd Feb, 9 th Feb, 16 th Feb, 23 rd Feb, 2 nd Mar, 9 th Mar, 16 th Mar, 23 rd Mar	CLASS 1 BACK DOOR

TUESDAY	TIME	LOCATION	YEAR	DURATION	COST PER SESSION / COURSE	CLUB DATES	COLLECT
GIOVANNA'S COOKERY (Min:10:/Max:13) Incl. utensils & ingredients Mrs Thomas	15:30- 16:30	KITCHEN	1 - 2	9 weeks	£10.00/£90.00	13 th Jan, 20 th Jan, 23 rd Jan, 3 rd Feb, 10 th Feb, 17 th Feb, 24 th Feb, 3 rd Mar, 10 th Mar, 17 th Mar, 24 th Mar	KITCHEN Ramp
ART (Min:10/Max:25) incl.materials/exc canvas Mrs Dutton	15:30- 16:30	CLASS 2	2 - 6	9 weeks	£8.50/£82.50 (£76.50+ £6 for canvas)	13 th Jan, 20 th Jan, 23 rd Jan, 3 rd Feb, 10 th Feb, 17 th Feb, 24 th Feb, 3 rd Mar, 10 th Mar, 17 th Mar, 24 th Mar	CLASS 2 BACK DOOR
STREET DANCE (Min:10/Max:20) Kelly Wilkins	15:30- 16:30	HALL	R - 4	9 weeks	£7.00/£63.00	13 th Jan, 20 th Jan, 23 rd Jan, 3 rd Feb, 10 th Feb, 17 th Feb, 24 th Feb, 3 rd Mar, 10 th Mar, 17 th Mar, 24 th Mar	HALL RAMP
INDEPENDENT STUDY GROUP (<i>Max: 15</i>) St Francis Staff	15:30- 16:30	CLASS 6	3 - 6	9 weeks	£6.00/£54.00	13 th Jan, 20 th Jan, 23 rd Jan, 3 rd Feb, 10 th Feb, 17 th Feb, 24 th Feb, 3 rd Mar, 10 th Mar, 17 th Mar, 24 th Mar	CLASS 6 RAMP
SHOW CHOIR (Max: 30) Mrs Matthew & Mrs Hoolan	LUNCHTIME	LIBRARY	3 - 6	9 weeks	£2.50/£22.50	13 th Jan, 20 th Jan, 23 rd Jan, 3 rd Feb, 10 th Feb, 17 th Feb, 24 th Feb, 3 rd Mar, 10 th Mar, 17 th Mar, 24 th Mar	N/A

SCIENCE (Max 12) Mr Whatley	15:30- 16:30	CLASS 5	6	9 weeks	£7.00/£63.00	13 th Jan, 20 th Jan, 23 rd Jan, 3 rd Feb, 10 th Feb, 17 th Feb, 24 th Feb, 3 rd Mar, 10 th Mar, 17 th Mar, 24 th Mar	CLASS 5 Ramp
-----------------------------------	-----------------	---------	---	---------	--------------	--	-----------------

WEDNESDAY	TIME	LOCATION	YEAR	DURATION	COST PER SESSION / COURSE	CLUB DATES	COLLECT
GIOVANNA'S COOKERY (Min:10:/Max:13) Incl. utensils & ingredients Mrs Thomas	15:30- 16:30	KITCHEN	1 - 6	10 weeks	£10.00/£100.00	14 th Jan, 21 st Jan, 24 th Jan, 4 th Feb, 11 th Feb, <mark>18th Feb</mark> , 25 th Feb, 4 th Mar, 11 th Mar, 18 th Mar, 25 th Mar	KITCHEN RAMP
TENNIS (<i>Min 10 – Max 26</i>) Park to Pro	15:30- 16:30	KS2 P'GROUND	1 - 6	10 weeks	£7.50/£75.00	14 th Jan, 21 st Jan, 24 th Jan, 4 th Feb, 11 th Feb, 18 th Feb, 25 th Feb, 4 th Mar, 11 th Mar, 18 th Mar, 25 th Mar	GAZEBO
EARLY YEARS CHOIR (Max: 20) Mrs Hoolan & Mrs Utomo	LUNCHTIME	RECEPTION	1 - 2	10 weeks	£0.00	14 th Jan, 21 st Jan, 24 th Jan, 4 th Feb, 11 th Feb, <mark>18th Feb</mark> , 25 th Feb, 4 th Mar, 11 th Mar, 18 th Mar, 25 th Mar	N/A

THURSDAY							
GIOVANNA'S COOKERY (Min:10/Max:13) Incl. utensils & ingredients Mrs Thomas	15:30-16:30	KITCHEN	3 – 6	8 weeks	£10.00/£80.00	15 th Jan, 22 nd Jan, 25 th Jan, 5 th Feb, 12 th Feb, 19 th Feb, 26 th Feb, 5 th Mar, 12 th Mar, 19 th Mar	KITCHEN RAMP
KS1 & KS2 FOOTBALL (Min:16 /Max:30) Park to Pro Shin guards and boots must be worn or not allowed to play. School PE Kit to be worn or non branded tops — no Football Club tops Children will be split into appropriate age groups for play		KS2 P'GROUND / GRASS AREA BY CABINS	1 – 6	8 weeks	£7.50/£60.00	15 th Jan, 22 nd Jan, 25 th Jan, 5 th Feb, 12 th Feb, 19 th Feb, 26 th Feb, 5 th Mar, 12 th Mar, 19 th Mar	GAZEBO
Little Musketeers (Fencing) (Min/Max: 20) Andy	15:30-16:30	HALL	1 - 6	8 weeks	£9.00/£72.00	15 th Jan, 22 nd Jan, 25 th Jan, 5 th Feb, 12 th Feb, 19 th Feb, 26 th Feb, 5 th Mar, 12 th Mar, 19 th Mar	HALL

FRIDAY							
BASKETBALL (Min:10/Max:25) Berkshire Bulldogs	15:30- <u>16:10</u>	KS2 COURT	3 – 6	9 weeks	£8.20/73.80	16 th Jan, 23 rd Jan, 26 th Jan, 6 th Feb, 13 th Feb, 20 th Feb, 27 th Feb, 6 th Mar, 13 th Mar, 20 th Mar	KS2 P'GROUND